SIENA COLLEGE
27th Annual High School Programming Contest
April 4, 2014
Problem #7: HOPPERS
Background Information: The game of hoppers requires you to find a sequence of jumps of frogs on a hoppers board such that one frog remains.  Frogs are green, but one (and only one) is red; the object is to find a sequence of jumps that leaves the red frog as the last one.  The layout of the board is show on the back of this page.  Frogs sit on lilypads (pads for short) numbered 0 through 12.  Frogs can start on any pad.
Rules for jumping frogs:

1. Frogs may jump from pad to pad only in the directions indicated by the inscribed lines on the game grid on the back of this sheet.  Jumps are made in a straight line.  For example, you may jump from pad 0 to pad 2 (and vice versa).

2. You may only move a frog by jumping over another frog on an adjacent pad and landing on the next open pad.  You cannot jump from pad 0, over pad 3, and land on pad 9 or pad 12.  You may only jump from pad 0, over pad 3 to pad 6.
3. When you jump over a frog, the frog that was jumped over is removed from the board (thereby creating an open pad).  For example, jumping a frog from pad 5 to pad 7 necessitates a frog on pad 5, a frog on pad 6, and no frog on pad 7.  The result of the jump will be a frog on pad 7, with pads 5 and 6 now open.

4. No non-jumping moves are allowed.

5. Frogs may not jump over an empty pad.

6. No frog may land on another frog.

7. No frog may jump over more than one frog at one time.

Example: if frogs are at pads 8 and 6, then a jump can be made from pad 8 to pad 4 (removing the frog on pad 6), or from pad 6 to pad 10 (removing the frog on pad 8).  Jumping from pad 6 to pad 10 would be outputted as 6-10.

Programming Problem:
Input:
The number of frogs, N > 1, on the board followed by the starting pads (using the numbering shown on the next page) of frogs.  The pads can be specified in any order.  The red frog will start on the last pad.

Output: A sequence of jumps printed out one line at a time in X-Y form, which in sequence would produce a board with one red frog remaining.  If no such sequence of jumps exists, the output is No Solution Found.
Example 1:
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8-4
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Example 2:
 Input: 
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Output: 
No Solution Found

Hoppers Board Layout
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